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Class X Mathematics 

Pre First Term Test  

TIME ALLOWED: ONE HOUR 15 MINUTES 

MAXIMUM MARKS: 25 

1. The value of  2 2 24
cos 53 tan 37 2cot 53

3
ec    is 

a) ¾  b) 0   c) 4/3  d) 1 

2. The decimal representation of 
1 4

14587

2 5
 will terminate after how many 

decimal places?           

a) 1  b) 2   c) 3   d) 4 

3. 𝑆𝑖𝑛 𝐴+𝐶𝑜𝑠 𝐵=1,𝐴=30° and B is an acute angle, then the value of B is 

a) 300  b) 450  c) 600  d) None of these 

4. If 2 2 1
2sin , 2cos 1,  find 

2
x A y A x y          

a) 
1

2
2

  b) 2   c) 1   d) 
1

3
2

 

5. The points on x-axis which are at a distance 2 5   from the point (7, 

-4) are 

a)    5,0 & 5,0     b)    9,0 & 9,0  

c)    5,0 & 9,0     d)    9,0 & 9,0     

6. The value of k, for which the points (8,1), (k, -4) and (2, -5) are 

collinear is   

a) 7/3  b) -7/3  c) 5/3   d) -5/3 

7. All the vertices of a rhombus lie on a circle. The area of the rhombus, 

if area of the circle is  125   cm2 (Use  =3 .14) is 

a) 300cm2  b) 500 cm2  c) 600cm2  d) 800cm2 

8. The distance of a point P(x, y) from the origin is 

a) x   b) 
2 2x y   c) y   d) 

2 2x y  

9. If A =  300 and B = 450, then Cos(A-B) =  
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a) cosA cosB + sinA sinB   b) cosA cosB - sinA sinB  

c) cosA sinB + sinA cosB  d) cosA cosB  cos sinB  

10. A sweet seller has 420 kaju barfis and 130 badam barfis. She wants 

to stack them in such a way that each stack has the same number, 

and they take up the least area of the tray. The maximum number of 

barfis that can be placed in each stack for this purpose is 

a) 5  b) 10   c) 15   d) Not possible 

 

11. In figure, ABC is a right-angled triangle. D is 

the mid-point of BC. The value of Tan /Tan 

is 

a) 1    b) 2 c) 1/2   d) 1/3 

12. The expression 
cot cos 1

cot cos 1

ec

ec

 

 

 

 
is equal to  

a) 
1 cos

sin






  b) 

1 cos

sin






  c) 

cos

1 sin




  d) 

cos

1 sin




 

13. If 
4sin cos 1

4tan 3, the value of   will be
4sin cos 1

 


 

  
  

  
 

a) 
9

16
   b) 

3

7
   c) 

5

7
  d) None of these 

14.  If sinƟ = x and secƟ = y , then tanƟ is  

a) xy   b) x/y   c) y/x   d) 1/xy  

15. In the given figure, DE II BC. Which of the following is true?  

a) 
a b

x
ay


     b) 

ax
y

a b



  c) 

ay
x

a b



 d) 

x a

y b
  

 
16. In the figure given below, AD=4cm,BD=3cm and 

CB=12 cm, then cotƟ equals  

a) ¾     b) 5/12  c) 4/3 d) 12/5 

17. If sin , then tan
a

b
    



Braj Education Centre 
Cultivating Academic Minds 

CBSE, ICSE and JEE Mains -2022 

Call me 24 x 7 @ 
22711085; 9818501969           3                                            email: s_braj@rediffmail.com 

 

a) 
2 2

a

a b
  b) 

2 2

a

a b
  c) 

2 2

a

a b
   d) None of these 

18. ABC is an isosceles triangle, with AB = AC. D is a point on AC such 

that BC2=AC x CD, then 

a) BD = BC  b) AC = CD  c) BC = AC  d) AD = AB 

19. The relation between x and y if the points A(x, y), B(– 5, 7) and C(– 

4, 5) are collinear is 

a) 2x – y =3    b) 2x + y = -3  

c) 2x + y = -3   d) 2x – y =  -3 

20. D and E are respectively the points on the sides AB and AC of a 

triangle ABC such that AD = 2 cm, BD = 3 cm, BC = 7.5 cm and DE 

|| BC. Then, length of DE (in cm) is  

a) 2.5    b) 3    c) 5    d) 6 

 

 


